


michael
Stamp

michael
Stamp

michael
Typewritten Text
Futures contracts have a clearinghouse. 
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Discount yield= 0.08=(1-Price/1)(360/90)= 
1*0.08*90/360= 0.02 1-0.02= 0.98
 

michael
Typewritten Text
Similiar to page 67 Q1 a. 
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1000*0.05= $50   (10%/2=5%)
50(1+0.035)+50=101.75 (7% reinvestment/2= 0.035)
1214.75(1.06)-101.75= $1185.89


michael
Typewritten Text

michael
Typewritten Text

michael
Stamp

michael
Stamp



michael
Typewritten Text
ERROR
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h=180
m= 180
g=55
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h-g= 125   6.65%
h+m-g= 180+180-55= 305  7.24%
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=1/1+0.0665(125/360) - (1+0.0606(180/360)/(1+0.0724(305/360)
=0.00668 * 50 000 000
=R334 000
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Similiar to Q6 a P245. Also example of Put option. 
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1240.89-1225/(1.03)^75/365
= 23.31$
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(1+r)-d / u-d
(1+0.09) -(1-0.15) / (1+0.18)-0.85
=0.727
=0.73
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Small caps: (653.3/712.70 -1)(5000000)= -$416725
Asset manager owes the dealer. If it was positive then dealer owed asset manager. 
Large caps: (1270.92/1230.10 -1)(5000000)= 165921
Asset manager owes the dealer. If amount was negative the dealer owed Asset Manager. 
Total $416725+165921= 582646. The asset manager owes the dealer. 
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Off the run FRA
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(0.0475-0.0525)(162/360)/(1+0.0475(162/360))* 5 000 000
=-$11014.56
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Because the party is long, the amount represents a loss. 
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SIMILIAR QUESTION PAGE 68 Q11 B
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St= $32 - share price declined to.
F= 34.89 (given) Initial price
t= 150/365
T= 320/365
T-t= 170/365
r= 0.065
We are 150 days later so it is only 30 days to the next dividend and (270-150) 120 the next.
2.40/(1.065)^30/365 +2.40/(1.065)^120/365 
= 4.74
PV(D)=$32-4.74= -(34.89/(1.065)^170/365)
           = -$6.62
Negative value is a gain for the short.  
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$90(1.07)^75/365+3= $94.26
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PAGE 114 QB
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100-94.23= 5.77%
$1 000 000(1-0.0577(90/360))
=$985575
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PAGE 144 Question 6 A &B
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100-94.28= 5.72%
1 000 000(1-0.0572(90/360))= $985700
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Actual change: 985 700-985 575= $125
OR 
It changed 8 basis points
8*$25(always 25)= 125
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P146. Q18 A
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(So/(1+r^f)^T) (1+r)^T
(1.3819/(1.028^340/365))(1+0.036)^340/365
= 1.3919
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Similiar to Page 244 Q3A
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St=0.07
(0.07-0.05)*(180/360)* 1 000 000
= $10 000
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St=0.07
(0.07-0.08)*(180/360)*1 000 000
=$0 Can not be negative.
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6.60+88.04-88= $6.64
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Bond price: 92/(1+0.05)^329/365= 88.04
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7.60+88-88.04=$7.56
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PAGE 251 Q9
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a
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PAGE 237 Problem 12. 
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0.22 ONLINE CALCULATER 
EXCERICISE PRICE IS SPOT PRICE 
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0.5871(3)=1.7613
1.19+1.7613= 2.9513
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Question 16 B page248
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30(0.5199)-34e^(-0.04(300/365))
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(0.3264) = $4.86
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Fixed payments:  5 000 000(0.06)(90/365)= €73972.60
Floating payments: 5 000 000(0.05)(90/360)= €62500
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Net payment is €11472.6 made by the company paying the fixed
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Question4 page 319
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1-0.8840 / 0.9756+0.9473+0.9172+0.8840
=0.0311
0.0311(360/180)
=0.0622
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and Question 13 page 232
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0.0311(0.9902+0.9615+0.9298+0.9024)+1(0.9024)= 1.02 - answer
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(10908.16/10610.89)=1.028
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(1.028-1.02) 10 000 000= R80 000
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Decrease
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Enter into an opposite transaction. Go short.
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Offsetting
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SWAPS
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Increase
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